'3}
L o e
P= A=
v}
) > <2
S = BN
&
0Ols .
& :
(=) e Sm.b
nmww
S 213|383
S =l =
SN 2|1S|S|S5
O >Zl2|=2
n Se SN
= o w < =
2L = =
< unHn I =
=X m < =
2= £ =
— O D
Q®2ZE | Els| gl
B H < | . N
= =2 |l S|E| 2|2
= NS o Ll S| S
< rss x| B 2
= KCD = S S
2 n-N L2 =
5 AODu o
== <C
5z2= |8
- Q<D =
5 o 5859 |5
N = = _j
=S =2 < n = (dp] [
N - — o
= =] = . > a =z = S |2
= < = 3 S > : O < S | . =
= 5 N =2 N = (@] o Z| 3 e
= 5 8 @ 2 == S = =|2|«|2
g N 5 = = < N N 2= |2
€ S amlmmu > 2 << .mm.mo
S22 £8s285 & a2l 3 SEIRE
X X Xx S = = g =28
© SRERsS3SE 3 Delz | _ B
S = LSS x5 8 S So| > | 3 2|28
N 2 WWW.I||QPV N RN = S|~ i
=2 988858388 < s n D h CARRS
.T.COkkI/A. R N ey oy = - = |=g | B 5
MQ.J..J..%.Q.mmmmm E2 Oowm | T |B5 E|E|E
neoorr S 8 S - =1
2= 5558 5 & =3 O s| |38
=% =3 K
a o © &
. | @5 Qs m = s |s= L | &
w I ! =] Oz = £|E|E|S
o [<5] o (@] S S| S N
< o ol [ LN w = 2 S(s|sSs| B
ASD . 7 = O o) . . 9D o = e EARA R
284 |1 € (il e ¢ |2 F1EE
N@W i D - |83 s o 3 = a|la|B
] [ o D = |52 S A (=
O] e | N » Sanmm @ O
H S
5 |

\
N/
»

YRR Y 'O
D>

0+240.00

PKP1 A=37.39
0+226.69

00°0¢-y
¥9°260+0
A

Mm S6 40140

eyt 0c

, 7
4,
\ 4 N ® b/

.\w 5. ,Dw 07 7, X
f\,n...r\xmvw

SU PRZEBUDOWY

-1acznik do ronda

ATEK ZAKRE
J

ULPOENOCNE
km 0+000.00

7

POCZ

®X T
//.vfo//va//w//o,aéz%ﬂo,
%%e.%




